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SECTION A [20]  
INSTRUCTIONS 
 
USE THE TABLE ON PAGE 3 TO MARK THE LETTER (X) CORRESPONDING TO THE 
CORRECT ANSWER. DO YOUR ROUGH WORK ON THE BLANK PAGES. 
 

 

1. The graph of  
xy 2)2(cos2   is represented by: 

  

 

  

 A         B         

 

 

 

 

 

         

 C          D  

 

   

2. If ),2ln(3)(  tth  then )1(1h is equal to : 

  A           3.395                B -0.604  

 C           0.604        D        0.35  

 

3. The gradient of the line perpendicular to the line 422  yx  is equal to: 

 A 1        B 2  

 C -1                                D 
2

1
 

 

4. The graph of yx  2)5(0  is represented by: 

 A circle        B hyperbola 

 C semicircle       D ellipse 

 

5. The value of )],32,0[cos(cot)64,0(sin 11    is equal to:  

 A 0.117                 B -1.51 

 C -0.117        D -1.17 
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6. If  1)( 2  xxg  and xexh )(   the ))(( xhg   is given by  

 A 
12xe                         B 1

2

xe   

 C 12 xe                   D     12 xe  

7. The third term in the Binomial expansion of 

2

3

1

y
x 


  is equal to 

 A        
348

9

xy
                B  

348

9

xy


 

 C 
548

27

xy
       D   

548

27

xy


 

8. The function ),43(sin5.0  xy   has period 

 A 1.5        B 0.67  

 B 1        D 2 

9. Given that ,)3(log 2

4 ex  then x  is equal to: 

 A 
e43                  B 

e43   

 C 
e43                  D 

e43   

 

10. The gradient of the line parallel to the line given by  ttv 2)(  is  

 

 A t2         B 2     

 C 2                          D t  

                         [20] 

 

 

1. 
A B C D 

6. 
A B C D 

2. 
A B C D 

7. 
A B C D 

3. 
A B C D 

8. 
A B C D 

4. 
A B C D 

9. 
A B C D 

5. 
A B C D 

10. 
A B C D 
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SECTION B [29] 

INSTRUCTIONS 

 
GIVE ONLY THE FINAL SIMPLIFIED ANSWER (CORRECT TO TWO DECIMAL PLACES 
WHERE APPLICABLE) IN THE SPACE PROVIDED.  DO YOUR ROUGH WORK ON THE 
BLANK PAGES. 
 

 

11. Expand 
5)2(  yx   to the first four simplified terms using the Binomial Theorem. Also 

indicate the conditions for validity.           (4) 
 

 
 
 
 
 

 
 

12. Simplify 



2

2

tan1

1sec




            (2)   

 

 
 
 
 
 

                
 
 
13. Make neat sketch graph of each of the following indicating clearly the turning point, 
          the x  and y intercepts     

                  

13.1 43)( 2  yyyf                           (4) 
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292.13 xy 
                  (4) 

 

 
 
 
 
 
 
 
 
 
 
 
 
 

          

14. Solve for  x  in each case:                                                                    

           
 

232ln1.14  x

                                                                                                        (2) 

 
 

)1,0cos()sin(2.14 ex                              (2) 

  
                                                                                                        

15. Given ),15,0sin(3  ti   find: 

 
   15.1 The frequency.                      (2) 

 
 
   15.2 The first time when the current first reaches the maximum.      (1) 

 
 
   15.3 Sketch only one cycle and indicate all essential points.                       (5) 
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16. Factorize 
24 5mm              (3)   

 

 
 
 
 
 

              

                                                                                                                                       [29] 
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SECTION C [34] 

INSTRUCTIONS 

SHOW ALL THE STEPS TAKEN AND GIVE YOUR FINAL ANSWERS CORRECT TO 

TWO DECIMAL PLACES WHERE APPLICABLE. USE PAGES 19 TO RE-DO ANY 

QUESTION YOU MAY HAVE CANCELLED. 

  

17. The equation for the currents 1i , 2i and 3i in the electric current is given by  

                                       

013

034

432

32

21

321







ii

ii

iii

 
Use Cramer’s rule to solve for 2i only.                                 (5) 
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18. Solve for x   
 

18.1       12
4

22.3 2
1212


 


x

x

xx

             (4) 

    

 
 
 

 
 
 

 
 
 

 
 
 

 
 
 

 
 
 

 
 
 

 
 
 

 
 
 

               

   

     18.2    )(cot 2cos1 xea                                                                                         (4) 
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19.      The area of a sector is  
288.2 m  and its arc length is .33.3 m  Determine its radius 

and the angle subtended at the centre of the circle.   
            

(5)
     

 
 
 

 
 
 

 
 
 

 
 
 

 
 
 

 
 
 

 
 
 

 
 
 

 
 

20.     Solve the trigonometric equation ,02sincos2    0                             (4) 
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21.           Make   the subject of the formula: xea lnsec tan                    (4) 

    

 
 
 

 
 
 

 
 
 

 
 
 

 
 
 

 
 
 

 
 
22. Decompose into partial fractions:        (8)                                                                                              

                           

                         
82

24572
2

234





xx

xxxx
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                                                                                                                                       [34] 
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RE-DO ANY QUESTION THAT YOU MAY HAVE CANCELLED: 
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